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Fertilizer Video

Notes

Mineral Fertilizer is mined from Quarries around our country. 

Expensive to mine – but not so expensive to purchase because of the inert materials 

added to the fertilizer bag.  

_____________________ is bat waste that is harvested from cave bottoms.


Extremely high in ____________________ because of the insect, moss, and plant 

material consumed to excrete that waste. 

Bird Waste was highly valued. So valued that war broke out. Causing the country lines to 

change in South America.

_________________________________ composting deals with the break down of cattle 

manure by worms. The long troughs of waste are left for 21 days while the worms break down the organic material. Because of the length of time it is much more efficient, easier to control quality, and easier to market. 

Dairy Cattle Composting deals with two parts. 


Liquid 

Solid

______________
_____________________________  

______________ 

______________________________

Worms have a digestive system very much like a ______________________(animal) ….grinding the material to much smaller sizes. 

_______________________ are the worm wastes that we are collecting to utilize as a highly nitrogen based fertilizer.

Human waste: 

__________________________ of waste water are cleaned from Philadelphia 

each year.  

_______________________ removes the oil based products from the top for the 

 
health of plants later on in the application process. 


___________ days in a settler – then another ____________ days in a drier. 


_____________________ – solid human waste sold as fertilizer

Liquid Fertilizers Advantage over dry is the more _______________________________ _____________________________________ on a field. 

___________________ – technology that has allowed farmers to track, control, and limit some application 

of fertilizers for the benefit of the environment and the bottom line. It costs much 

less when you are applying only what you need rather than what you think the 

field needs. 

Another technology is ______________________________________ – where the plants reflect red light and so green plants that do not need fertilizer will not get it because of the reflection rate. 

_____________________(color) plants that do need the fertilizer will get it. 

Both technologies have decreased _________________, decreased_________________ and ____________________________ costs, 

And____________________________ yields. 

Microrhiza Bacteria


_________________________________________ – plants gain fertilizers ( N ) 

and the bacteria get shelter, food and water 


Now being added to sandy soil to get plants to thrive there also. 


Create a web around the plant roots and are constantly searching for nutrients to 

consume…so they spread quickly adding OM to the soil also.

